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Topic:- General Knowledge and Logical Knowledge

1) Sardar Vallabhbhai Patel National Police Academy is located in L/ RQR 9y ‘1-I'I'.=3c ued

T gRE s RF R REE
1. Ranchi / T

2. Bhopal / Hiared

3. Hyderabad / %ETI@'I_C{

4, Dehradun / 33? 8

Correct Answer :-

» Hyderabad / %GQIEIE

2) If CONDITION is coded NOITIDNOC, then how is SITUATION coded? / zlﬁ CONDITION &Y NOITIDNOC &

Fifsd fpar wirar 8, a1 siruarion Y 9 Sifsd fear s
1. NOITAUTIS
2. NOITUATIS
3. NOITATUIS

4. NOITAUITS

Correct Answer :-

* NOITAUTIS

3) How many different seven letter words can be formed using the letters of the word '"AMERICA', if

repetition is not allowed. / afe Wﬁﬁ G| Gl_j’qﬁ Tiga 'AMERICA', ¥[eG & 3{&R] BT SUANT
TP T4 &R} F forem fafira <reg amme o e d 72

1. None of the above / i:lf{ I ﬁ"&c :Iﬁ
2)



3. 2520

4. 1260

Correct Answer :-

e 2520

4) Which chief minister has held office for the longest duration in a state? / T o= | fore 'ﬂ@'ﬂ’?ﬁ B
e ol Srafy & RIE SridpTer FeiTe?

1. Mamta Banerjee / HHdT oI
2. Biju Patnaik / &S] USRI

3. Jyoti Basu / SIfd 9
4, Narendra Modi / 5 HIe]

Correct Answer :-

« Jyoti Basu/ S g

5) Which is the highest civilian award in India? / WRd 8 qar= ARTR® YREPR DI G 87
1. Bharat Ratna / HRd Xd

2. Padma Vibhushan / Us] ﬁ'{El'UT

3. Param Vir Chakra / URH 4R Ieh

4. Jnanapith / UGS

Correct Answer :-

¢ Bharat Ratna/ HRd ¥d

6) Which metro recently launched India’s first mobile ticketing system? / 8¢l HEREE] ﬁ?f 3 YRd B
Ugl AiaTg fdehe UMt YR &1 ot

1. Kolkata metro / PIAIpIal ﬁEj
2. Mumbai metro / 'ﬂ_®|§ ﬁzj

3. Bengaluru metro / aﬂq\’? f@j
4. Kochi metro / i ﬁff

Correct Answer :-

)



B e T R TR Y

M

7) What is the probability of drawing a face card out of a pack of 52 cards? / 52 Tl & dod A B PIS
(TR a9 & FHpe ST Ui 1 82

1.3/13
2.2/13
3.1/4

4.1/2

Correct Answer :-
« 3/13

8) The largest producer of Lignite in India is / HIRd | e &1 GEL:| d8l Sdlgdh e

1. Gujarat / T[SIRTd
2. Tamil Nadu/amaq@

3. Rajasthan / XTSI
4. Kerala / @

Correct Answer :-

e Tamil Nadu/alflaq@

9) If PLACIDA is coded OKZBHCZ, then how is HONGKONG coded? / Tfe PLACIDA P OKZBHCZ |

FifSd fHa1 SIaT 8, @ HONGKONG 1 1 Sifed favar s
1. GNMFIMNF
2. GNMFINMF
3. GNMEJNMF

4. GNMFJOMF

Correct Answer :-

» GNMFJNMF

10) The Central Hindu College at Benaras was founded by / I9IRH A B %ﬁﬁﬂm B RITYT
e @t o

(4)



- v sasasavvan o wasan

2. Bhagwan Das / HITdTH &Y

3. Madan Mohan Malaviya / Hc H\IEH qrda

4, Annie Besant / QTﬁ ST

Correct Answer :-

¢ Annie Besant/ Q?ﬁ <

11) With which of these states does Maharashtra share its borders? /'FIE'RTg f&a Q%EZT I 3=t Aar3i
P AT ST 872

1. Telangana / SEAIEI]
2. Rajasthan / TSTRITH
3. Odisha / ST

4. Kerala / R

Correct Answer :-

« Telangana / SRR

12) The two main gaseous components of the atmosphere are oxygen and____ ./ dIcIdRUl & ?;;f qeT
g erqgq sifRfegd _

1. Argon/ 3

2. Ammonia / 3R

3. Carbon Dioxide / HTa SERIESIES]

4. Nitrogen / :H%_cilGH
Correct Answer :-

« Nitrogen/ :llééAlﬁl:l

13) Who was the first Prime Minister of India? / HRd & YYH TUTTHA B 32
1. Sri Lal Bahadur Shastri / &1 STel SgTgR el

2. Smt Indira Gandhi / S} Sfey et

3. None of these / 3711?[ I ﬁ’s\f '_‘léaf

4. Dr. Rajendra Prasad / S o5 NG
(5)



LOorrect Answer :-

¢ None of these / s:lff @f@%:@f

14) Who was the first Chairman of Unique Identification Authority of India (UIDAI)? / HRd4g fafRry
UG UTIRIGRUT BT UYH 3eq&f PIT UT?

1. Nandan Nilekani / e =ieid=
2. Arun Shourie / 3%U] Qim
3. J Satyanarayana / EREINEI

4. Ravi Gupta / N edr

Correct Answer :-

« Nandan Nilekani / 5& St

15) Who was the first Chief Justice of India when the Supreme Court was established on January 26,

1950? / 26 AR 1950 DT Td e ATATT BT RITIAT & JHT R & TYH T&T AR S &2
1. Sir Maurice Gwyer / W AMNY ARR

2. BR Ambedkar / d 3R 3fidSH

3. HJ Kania / T2 S M1

4. M. Patanjali Shastri / TH. ELEINEURE]

Correct Answer :-

. HJKania/QﬁﬁWﬂ:ﬂ

16) Who was honoured with the 25 Vyas Samman for 2015 for Hindi Poetry? / ﬁ@ 2015% mﬁ

Pfadrzg 259 T T & wwfE R
1. Tara Singh / dRT g

2. Sunita Jain / “{FﬁﬂTa:f

3. Prasoon Joshi / TR SR

4. Ashok Chakradhar / 3N THUR

Correct Answer :-

 Sunita Jain / ﬁ:ﬁ?ﬂ G|



T 4 A mm s smmmng vamw o~ mmmmemn = a e T Ammm s smAM vs Aw v mmewa AR AN T MY AAve s wew ] A weve mmm ArmeeamAn ) we m A esm—mmw s = o e

ﬁm%mnmu&w%mﬁﬁﬁwmaﬂammév
1. Jhabhua / TSI
2. Sheopur/ﬁla'ﬂ?

3. Alirajpur / 3131]?[@9?
4. Barwani / SRAM!

Correct Answer :-

e Alirajpur/ ﬂ?ﬂ?l\_rfg?

18) Race Course Road in Delhi, where the Prime Minister resides as renamed as / fa'ﬁﬁ ﬁw ﬁﬁ ﬁ@',

gl gy e g, drAm uRafda s @ gl
1. Aurobindo Marg / SR

2. Jan Seva Marg/\_rl:f@mﬂ'lﬁ

3. Lok Kalyan Marg / e HedT AN

4. Pradhan Mantri Marg / PEICEEIR T

Correct Answer :-

» Lok Kalyan Marg / P HTI AN

19) The famous song ‘Sare Jahan Se Achcha...... ’> was composed by. / ufreg e <R \_rlg‘f'\ﬁ 3BT B
ITAT S5 B A

1. Bankim Chandra Chatterjee / §fopH g geol
2. Rabindranath Tagore / JA-&-1Y TR
3. Syed Ahmed Khan / T9¢ 3[HE T

4. Mohammad Igbal / AgHC 3hard

Correct Answer :-
« Mohammad Igbal / ATGHIE SHATA

20) The first river island district of India is / HIRd A gydg =I?.Pf ﬁ'q ﬁﬁﬂ%

1. Majuli / ATal
2. Divar / Gla¥



B T e e e s

4. Khandwa / Wadl

Correct Answer :-

« Majuli / ATal

21) Sundar Mabhal is a tourist place located in / W Hg ¢ Uh e wd % St - H fRua %I
1. Kandariya / CARL|

2. Mandu / II'ITi

3. Orchha / 3{R®T

4. Khajuraho / @@?lé

Correct Answer :-

e Orchha/ W

22) was given the status of the 17 zone of the Indian Railways in 2010./ 2010 | G|

YR Yd & 17d H BT Goit UG foam T o |
1. North Western Railway / 3tIR BIEERGES
2. North East Frontier Railway / 3T} Q?f a7 Yerd

3. West Central Railway / Ofg| qeg ¥ad
4. Metro Railway, Kolkata / ﬂ@iﬂa’ , CANCARI

Correct Answer :-

» Metro Railway, Kolkata / ﬁejiaé , CANCAR

23) The 8" BRICS Summit was held in 2016 in / 2016 & 897 foe RRER I ¥ 3riferd
BT ATl

1. Goa / Tal
2. New Delhi/‘T&cﬁQ’_vﬁ
3. Bihar / f98R

4. Madhya Pradesh / H&J TR

Correct Answer :-

« Goa/TMdl
(8)



24) 1In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.
Choose the odd one out:

| FFrafafEa uy 9, eierl & 3o g Ry e §1 39 9 & Saa te &) SisHy, 30 gaar 8
e T 3T gl

390 & faun &1 99+ Sifo:
1.PQ
2. MO
3. TU

4. DE

Correct Answer :-

« MO

25) Find the next expression in the series: / m t: STl U JTd aﬂﬁ'ﬂ,’:

ABBZ, CDDY, EFFX, 2
1. GHHW
2. GHHY
3. GHHX

4. HGGW

Correct Answer :-
e GHHW

26) Find the odd one out: / Uh ICLEEIG] ﬁﬁmz

18, 27, 45, 63, 72, 117
1. 117

2. 18

3.45

4.72



LOorrect Answer :-

27) Name the tribe that actively participated in the revolt of 1857. / 1857 & ﬁﬁ?  Ifhg U F YR
A Tel ST B |

1. Gonds / Tﬁg
2. Bhils / HidT

3. Baiga / Gl
4. Korku / W

Correct Answer :-

« Bhils/HId

28) Select the option that is true about the Statements and Conclusions given: / 39 ey &1

T HIE &) S R T sy iR el S aR A w2 :

Statements: /| DY:
All cars are buses / I FR 9 %
Some trams are not cars / P9 ¢H PR Hﬁ%

Conclusions: / Al
I. All trams are buses / 93t T T &
II. Some trams are buses /| $9 ¢IH T %

1. both conclusion I and II follows / &R I 3R 11 &I SR P §

2. only conclusion I follows / DHad F5hY I STZARTT W_CIT%

3. only conclusion 11 follows / &Had ey 11 STTHRUT DRl g

4, neither conclusion I nor conclusion II follows / Ep[ ﬁ'&Fﬁf I \3-ﬁT Cl é)[ ﬁ'ﬁaﬂf 1T 3R GG %

Correct Answer :-
« neither conclusion I nor conclusion II follows / < %Df ﬁ@ﬁf | GhT - é)[ ﬁ'@ﬁ 11 3R B %

29) Select the option that is true about the Statements and Conclusions given: / 39 CEZ Kl

99 BT & 7 3w U sy i repuf S IR A 9 2 -

Statements: / ®Y:
Some frogs are fishes / $© Hed TSl &

(10)



——rmr— e e g e = s = — o~ f— o veseve s N

Conclusions: / fAeszi:
I. Some reptiles are fishes /| P H'\ﬂﬂq R %
I All reptiles are fishes / 93 TYT 75ell &

1. both conclusion I and II follows / ﬁlEb_EfI @T I aﬁ:ﬁ SITIRTT W %

2. only conclusion I follows / Had [=hY | SR W_CIT%

3. only conclusion II follows / Had ﬁwﬂf 11 STFERUT h Xl %

4, neither conclusion I nor conclusion II follows / - _E?f ﬁwﬁf I GﬁT i é‘r ﬁ'@m‘: IT 38R B %

Correct Answer :-

« neither conclusion I nor conclusion II follows / - ébf ﬁ‘zb_ﬁ I 3ﬁ7 « ébf ﬁmv_ﬁf IT 3R GG %

30) Select the option that is true about the Statements and Conclusions given: / 39 ICEZR KAl

g9 HIfTE &t i 2T T HyET ok frepuf & Iy & 98 2:

Statements: / ©Y:
No pearl is ruby / ®Is Hid! AR T8 &
Some rubies are diamonds / $9 1T éﬁ' %

Conclusions: / fAepd:

I. No pearl is diamond / F1S AIdl gRT&I @
II. Some diamonds are rubies /| $9 ﬁ HIOTRT %

1. both conclusion I and II follows / FT&R¥ I 3R 11 g1 SR GG %

2. only conclusion I follows / e FTpY [ S{FERU HAT ]

3. only conclusion IT follows / Had ﬁ'@?ﬁf 11 STFERUT h Xl %

4. neither conclusion I nor conclusion II follows / 7 81 feer 1 3R 7 &} fswef 11 S{FARUT IRAE

Correct Answer :-

« only conclusion II follows / Had [HY 11 STERI HRl §

31) Select the option that is true about the Statements and Conclusions given: / 39 ICER Kl

I Bifore Sl P feu T Sy ik fApui F IR A WS §

Statements: / $YA:

All boys are singers / T TSP Ta® &

Some boys are not artists / $© TSP FATPHR gl &
(11)



Conclusions: / fA=p:
I. Some singers are not artists / PO TMADH HATPR T-Ié’f %
IL. All artists are singers / 9 FATPR TP &

1. both conclusion I and II follows /ﬁW‘SfI Gh?' I Q\HI' S B %

2. only conclusion I follows / ad ey 1 IR0 HRAT S

3. only conclusion IT follows / Had FspY 11 STTIRU] HdT %’

4, neither conclusion I nor conclusion II follows / 739[ ﬁwﬁf I GﬁT Gl _69[ ﬁf@v_ﬁ T 3R HYd %

Correct Answer :-

» only conclusion I follows / Fad feepe 1 ST W%

32) If MPOEPO is coded LONDON, then how is IVOHSZ coded? / Tf¢ MPOEPO %) LONDON ¥ HIfaSd
a1 SITaT 8, Y IVOHSZ ) 4 pifsd fhar SRRm?

1. HONDUS
2. MEXICO
3. HUNGRY

4. HOLAND

Correct Answer :-

« HUNGRY

33) Complete the series choosing the missing letter/s: / Gl SER/IHERT ﬁw gen Cg] LR PIforg:
P__qp__rpqqr__pp__qp

l.r,p,q, 1

2.1,1,P,9q

3.9,9, 1,1

4.1,9,1,q

Correct Answer :-

34) Complete the series choosing the missing number: / Tt HSAT BT AT 3%931 Piforg:

2,20, ,380,1532
(12)



2.90
3.70

4.92

Correct Answer :-

e 92

35) Complete the series choosing the missing number: / Gl AT GTP YT aﬁqu PIfIT:
3, ,9,15,23,33

1.4

2.6

3.5

4.8

Correct Answer :-

e 5

36) Complete the series choosing the missing number: / Gl RiLEl | gD 81@'?” ﬁq\?ﬂ m:
4,11,25, ,109,221

1. 40

2.58

3.50

4.53

Correct Answer :-

« 53

37) In a certain code language students are crazy is written as ast munol gokon and Teachers are gtreat is
written as silal fesp ast, then how is are coded? / Tch W PIS HTUT ﬁ:, students are crazy B ast munol gokon

fera strar % 3R Teachers are gtreat B silal fesp ast fera sman % | Y are BY S BIfST fHar smAm?

1. ast

2. silal
(13)



4. fesp
Correct Answer :-

e ast

38) The series given below contains a sequence of numbers. Identify the incorrect combination: /e Eﬁ"’l’&g

a1 H, YTl BT U HH SURI § | TTerd SaIei= Ugar-e:
3,7,11, 16, 19, 23

1. 16

2.7

3. 11

4.19

Correct Answer :-

39) The series given below contains a sequence of numbers. Identify the incorrect combination: /= E(pf Tl's:
siaa ®, TeAeil &1 U HH SURRI § | TTeid Halo Ugar-e:

5,15, 49, 104, 181

1. 181

2. 104

3.5

4.15

Correct Answer :-

40) In a certain language abra /a dabra means balck magic lamp and ula /a olelo means
magic inside bottle. Then in that language the word /ais used for: / Tdh W PIS HIHT fr',
abra la dabra®1 3% balck magic lamp 3R wla Ia olelo 1 34F magic inside bottle giar %I GEJ
T DS HINT H /2P foQ 5 T 1 SHHTa v aT T 82

1. inside

(14)



Correct Answer :-
* magic

Topic:- Mental Ability and Mental Aptitude

&l fdder gfderd g7

5
6

NE P

1) ]
What percent of 2520y
6 4

1. 75%
2. 66.66%

3. 90%
4. 80%
Correct Answer :-
e 90%
2) . . .
In the sequence shown below, which figure comes next? / @Arer 63 TR &H H, HTell
Ff: ,r‘; A ¢ % [ .::'1!\. " ;"{‘; ..»-"-'h"h
e Y7 e S
ll‘\“:‘ jf ’M"t..‘;',.“:, ‘xvf s '-\eﬁ" y! ‘I"‘,. l‘\.q J_ , y l‘r
i""\._,_* . - i,."‘. —‘f‘- 1 k""w.,n -
1 11 111 v
1.
2.
(15)



3)

Raghunath Shetty buys 9% m of cloth at Rs. 12% per meter, from Khadi Bhandar.

How much should he pay o Khadi Bhandar? / T€=T 9121, WK $0ST ¥ 9% #HI. HUaT,

12% T 6T e ¥ WedT &| 39 WET AUSK &l fhdel S99 SR

o

Rs. 21@%‘* 210% ey

Rs. 115? 115% F

Rs. 205%! 205% )

5 5
Rs. 1052/ 105° TT9r
S 8
4,

Correct Answer :-

Rs. 115%* 115% I3

(16)



If the following two squares shown below overlap, which one of the following options

is formed? / afg AFT 2F a9 AT 817 & o Aea & § &l 97 v AdeT aadr &7

\
&
¥
1.
n n
2.
1
|
Y v v
3.
& n
v
4,

Correct Answer :-

(17)



In the sequence shown below, which figure comes next? / AT 3 TR &H #, 0T
HIGIT Bl T FHREI?

e
i T

—

Pt

Lk
=

|
[
1.
_.:_“
2. "’
t
3. ]
4 —
Correct Answer :-

-

6) Two pipes P and Q can fill a tank in 8 hrs and 10 hrs respectively. If both are opened for 2 hrs and
after that the first pipe is closed, then how much more time will the second pipe take to fill the tank? / ?:a'

13 P 3R Q frdt T &Y whwwT: 8 3R 10 € W W= UTd &1 Afe g1 TSy gl 6 THhany Id 8l ok
TP 1S UgA UTSY B &g B 130T ST ol GORT UISU & &) fhamil ¢ & U uravm?

1.5.5hrs /5.5 9¢

2.6hrs/6‘fj%

(18)



4.6.5hrs/6.59¢

Correct Answer :-

e 5.5hrs/5.59¢

7) Sum of the areas of two squares is 25 sqcm. The difference between the bases of the squares is 1 cm.

What is the area of the bigger square? /?.‘a'?ﬂﬁa; &AEd BT AR 25 ﬁmél T & SMTYR BT
IR 1 . B 1 98 T P SAGA T2

1.4sqcm/4aﬁ1ﬂa
2.16sqem/ 16 1 Hiex
3.25sqem/ 25 Fif diex
4.9sqcm/9_O|TfIﬁET

Correct Answer :-

e 16sqem/ 16 1 HieR

8) What amount, when invested at 20% p.a. for 2 years would become Rs. 720? / fopaeTt _1RR1 20% BT

T &R A g1 ad & 1T AR & @+ 9= 720 FU Y <@
1. Rs. 500/ 500 ¥U4

2. Rs. 560 / 560 U

3.Rs. 1,036.8/1,036.8 30

4. Rs. 890 / 890 3TA

Correct Answer :-
« Rs. 500/500%0Y

9) Simple interest on Rs. 600 at 18% per annum for 9 months is: / 9 qﬁﬁ & 1%113 18% uﬁraﬁaﬂa g
600 ¥UY TR AR TS 3:

1. Rs. 108 / 108 24U
2. Rs. 150/ 150 %YU
3. Rs. 81/81®UU

4. Rs. 91/91 34T

Correct Answer :-
(19)



e v A v ey

10) Rs. 1500 are divided among A, B and C in such a manner that A : B=5:2and B: C=7: 13, What
is B’s share? / 1500 YT DI A, B 3R C H 0 3 UHR fauiva fParmn g fea:B=5:23RB: C
=7:13 g @ B P! fa-t vug ure i

1. Rs. 700/ 700 24U
2. Rs. 500/ 500 %UU
3. Rs. 280 /280 ¥YU

4. Rs. 350 /350 ®UU

Correct Answer :-
¢ Rs.280/280%0U

11) In an election contested by two candidates, 6% of the voters abstained from voting and the winner
won by 6,000 votes securing 48% of the total votes. How many votes did the loser get? /33[ fayTimE &

%ﬁﬁ6% qifeT g3 | fasiar &1 6000 die fra i Fa diei BT 48% AT, TR 91 &I fha- die

1. None of the above / IWRIad | @rﬁ‘s‘:raﬁ
2. 138000
3. 144000

4. 120000

Correct Answer :-

« 138000

12) If the age of A and B is in the ratio of 1:2 and the age of B and C is in the ratio of 2:3. Find the ratio

of the age of A to C./ A 3R B BV 3T HT ST 1:2 § 3R B 3R C Bt 3T BT U 2:3 ¥1 A 3R €
P 3R DT SFUTT T DI |

1.1:3
2.3:2
3.1:2

4, 1:1

Correct Answer :-
o 1:3
(20)



13) If the difference between discount of 30% and two successive discounts of 20% and 10% is Rs. 144,
then, find the list price of the article. / {5t a¥d U 30% ﬁ'{}? 3R Gl 37T 20% 3R 10% B D
Tl BT 3R 144 T , df TSI Sifdd G gIm:

1. Rs. 7,200 / 7,200 30T
2. Rs. 8,200 / 8,200 SUY
3. Rs. 6,200 / 6,200 3T

4. Rs. 9,200 /9,200 3T

Correct Answer :-

« Rs.7,200/7,200 50

14) 11:22::28:?

1. None of the above/ 3‘41?[ q Ebal—st '_‘lébf
2.58

3.56

4. 62

Correct Answer :-

15) A basket contains 10 apples and 15 Oranges. The cost of one apple is Rs. 9 and the cost of 2 oranges
is Rs. 10. Find the average cost of the 10 apples and 15 oranges combined. /Wa@—\ﬁ H10 AT 3R 15
TR €1 TP A BT Y 9 TUA 3fR g Taz! &1 Hed 10 TUA &1 10 Tl 31X 15 HaR| &7 3iId Ied
fem g

1. Rs. 34 /34 S0
2. Rs. 32 /32 3
3.Rs.33 /33 3

4.Rs.3 6/36 300

Correct Answer :-

« Rs.33/33300

16)

(21)



B T g s e T mmwee A wmmw M e~ sm s vAAw wewa mms mmmmw—a e mmwessms o oy = - e e

ﬁo‘:ﬁ/‘zxa&wﬁaﬁ?ﬁ%nﬂ/ﬁ ﬁwﬁmwtﬁﬂ’ro

2
18 Zm/sec
3

2
16 —m/sec
3

2.
3. 18 m/sec

4. 16 m/sec

Correct Answer :-

2
16 —misec
3

17) Solly is five times as old as his sister. After 10 years, he would be thrice as old as what she would be
then. What is the present age of Solly? / Yt B Sy D! g6 B 3 s '{F‘ﬁ 2110 9@ dlq,
IAD! ATY SYHT T8 A 3 T gRN | el BT g 3y forat g2

1. 40 years / 40 CL
2. 50 years / 50 T
3. 30 years / 30 Gl

4. 20 years /20 Y

Correct Answer :-

* 50 years/ 50 Gl

18) A can do a work in 20 days. B is 25 % more efficient than A. The number of days taken by B to do
the same piece of work is: / A T BTH ®1 20 feT W S THdT &1 B BT &7, A | 25% 3iftre 31 I
1 DI B fad fga A mraem?

1. 16
2. 18
3.15

4.25

Correct Answer :-

(22)



19) The speed of a train is 40 kmph. How much distance will the train cover in 150 minutes? / Uch a:[ Gl

a1 40 fedie B, 150 frere o gg fraeit g8t o sl
1. 60 km / 60 TopHT,

2. 120 km / 120 fodit.

3. 80 km / 80 foptit.

4. 100 km / 100 oo,

Correct Answer :-
« 100 km / 100 oo,

20) If Rs. 2,80,000 is the 2/7 percent of cost of a house, then the value of the house is: / PR w* e

BT 2/7 UFA=Id, 2,80,000 UL 81 &t TR &1 T =1 8:
1. Rs. 12,00,000 / 12,00,000 ST

2. Rs. 10,00,000 / 10,00,000 T

3. Rs. 8,00,000 / 8,00,000 TTY

4. Rs. 9,80,000 / 9,80,000 ST

Correct Answer :-

« Rs. 9,80,000 /9,80,000 SUY

21) A is twice and B is 5 times as old as C. Two years ago, B was twice as old as A and C together. Find

their present ages./ A, C'ﬁ?ﬁﬂ:ﬂ%\?ﬁ'\"B, C'\ﬁS‘[FIT%I a’raﬁqﬁ, B,AGﬁ?CﬁEﬁ'{HTEET YTl g
HIB! adq g fpeit 82

1.21,32,8
2.24,32,6
3.30,21,6

4.12, 30,6

Correct Answer :-

(23)
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including the teacher? / U% H&T & 27a€%&‘raﬁ3ﬁ'ﬂa&ng ]3 gl a{waﬁarrgu qig |
TS o1 Ty § e a1 W ied foad=m gm?

1. 34
2.20
3.27

4. 14

Correct Answer :-

23) The average of 8 numbers is 12. If each number is increased by 3, what will be the new average? / 8

TSl T Sl 12 71 afe udid I | 3 Siis fan s, ot w4 shrd favasi gieme?
1.13
2. 14
3.17

4.15

Correct Answer :-

« 15

24) A train of 105 m long is running with a speed of 50 kmph. In what time will it pass a man who is
running at 4 kmph in the opposite direction to that in which the train is moving?/ 105 . et U a:f 50
i/ &t 9re | T T8 €1 AR v aaf ST P Ruda R # 4 el A s A we A e
9 fopaeil G 6 UR il

1. 7 sec/ 7 ﬁ
2. 10 sec/ 10 9.
3.5sec/5 @

4,12 sec/ 12 9.

Correct Answer :-

o 7 sec/7@.

25) 999+99+9999 = ?

(24)



2. 11187
3. 11097

4. 10097

Correct Answer :-

e 11097

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? / ra ﬁa ™

IR vl # § 9 3 R 1d & St 9uE o1 9 g 81 82

Olivia Choe
1070 Thorndale ave,

Bensenville, Illinois

(i) Olivia Choe
1070 Thorndale ave,

Bensenville, Illinois

(ii) Olivia Choe
1070 Thorndale ava,

Bensenville, Illinois

(iii) Olivia Choe
1070 Thorndale ave,

Bensenville, Illinois

(iv) Olivia Choe
1070 Thorndale ave,
Bensenville, Illinois
1. iii

(25)



27) A number is such that 8 times the sum of its digit equals the number. If 45 is subtracted from it, then the
digits are reversed.
What will be the number?

/Wﬁ'@%am%&iﬁ%tﬁwaﬁsg'—ﬁ%l e I BT | 45 °eT a1 9Ie ) 3T sich) & VI IRIUR
Sead gl

I =T T ERI?
1.23
2.27
3.32

4.72

Correct Answer :-

e« 72

28) Find the average. /3Nd FRreferd |
29,33,37,41,45 & 49

1.31

2.39

3.37

4.35

Correct Answer :-

29) (x2-4)=

1. (x+2) (x-2)

(26)



3. (x-4) (x+4)
4. (x-1) (x+1)

Correct Answer :-

o (x1+2) (x-2)

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect
combination: /-_-ﬂ%a'ﬂg mﬁ, &Ry @TW&ﬁWWWﬁ%ﬁ%I WWW&N
i.ghtt5634thgt

ii.ghtt5634thjt

iii.ghtt5634thgt

iv.ghtt5634thgt

1. iii

Correct Answer :-

e i

Topic:- Science and Simple Arithmetic

1)

47 is divided into two parts in such a way thaté of one part is equal to g of the other. The largest
partis: /42 & &1 &N ¥ 5 ¥ & faenfeid e smer § fib weh oot T -gE & S &
aqaY BT 1 Wad asT S B

1. 18
2.28
3.26

4.24

Correct Answer :-
(27)



2) In the adjoining figure, /|| m and p || ¢.thena= J ot 3Rl 7 1| m AR p
lg.dra=___

1.125°

(e}

2.45
(o)

3.55
o

4. 65

Correct Answer :-

o

« 55

3) If the marked price is Rs. 750 and selling price is Rs. 690. The % of discount is: / Tfe sifea Heq 750

FUA g 3R fasra 9T 690 TU B, Al T BT % B
1.9%
2.10%
3. 7%

4. 8%

Correct Answer :-

e 8%

4) Which of the following briefly describes the desert climate? / Fafafead ﬁﬁ?wm
BT HET H quf HRa1 82

1. Hot and humid /Tlﬁﬁ?ﬂ \3“|'|_9%
2. Hot and dry / TH a7 Y[5F
3. Hot and wet / IR

(28)



tn e a g e masmmaaase g e e N

Correct Answer :-

« Hot and dry/TlflaﬂTW

5) Which is the smallest number when multiplied with 10584 will make the product a perfect cube? / ar

AYAH ST DI G 8 o 59 10584 | O fvam we o we gt w1 @1 ufvoma ¢t
1.8
2.7
3.9

4.4

Correct Answer :-

6) A chord of a circle of radius 17 cm with centre 'O’ is of length 30 cm, its distance from the centre is: /

17 Y. Y B & A1 F% 0 a9 IR B Silan B s 30 I, R, e A SEBI g @
1.9 cm
2.12 cm
3.8cm

4. 14 cm

Correct Answer :-

7) How many natural numbers lie between the squares of the natural numbers 56 and 57? / 56 3T 57
WpTae Tmell & a9 & ag fra-l wpfae T=id gidl 82

1. 114

2. 112

3.124

4. 142

Correct Answer :-
o 112

(29)



8) How many 3 cm cubes can be cut-off from a cube whose edge is 15 cm? / TP Y-, T fParT 15
It B, 39H A fpan 3 ). & v #1e 5T 9pa 72

1. 115
2. 130
3. 125

4. 150

Correct Answer :-

9) The metal which is suitable for making a permanent magnet is: / T T("I'I'&F JHD CATLIED fere
Suged uTg 1 &:

1. Soft iron / H‘g,’?ﬁET

2. Copper/a'iiﬂ

3. Radio metal / XS g
4. Steel / el

Correct Answer :-

o Steel / TId

10) Rainbow formation is an example for: / 33?17;[‘5[ &1 fHior Tdh BEIETUT%, IPI:
1. Polarization / {dUl

2. Dispersion / ICEAIG!

3. Scattering / PEAWE]

4, Reflection / TRTATH

Correct Answer :-

 Dispersion / ICEIE]

11) We get the smell of hot coffee from a distance, but not that of cold coffee. This is because: / Eﬁ"'le

PIB! DI 7Y TH g3 | U B Sl 8, TR SSI DIw] DI =181 | I8 ST Fifp:

1. Molecules have higher kinetic energy at higher temperature and can travel farther / 3= dIUHIT UX &FUl&ﬁ |
I 7T Solf Bidll 8, TUTd R I o 9hdl 7

(30)
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3. Molecules dissolve faster and spread across at higher temperature / 3= dUHIT U 3HU] oy foafd g 9
g TUTIRI SR el &I &l
4. More number of molecules dissolves at higher temperature / 3= dUHTH UX 3{Ul3ﬁ P D T=AT f[Adtidd

g gl

Correct Answer :-

« Molecules have higher kinetic energy at higher temperature and can travel farther / 3= dIUHIT U 3{013'?[ o

I 7T Solf Bidll &, TUT 3 R b ol Uhd & 1
12) Packets that contain destructive enzymes are: | pe o d mww@ﬁaﬁ %
1. Centrosomes / AR DI
2. Golgi bodies / Mool BT

3. Lysosomes / YD

4, Ribosomes/mﬁ

Correct Answer :-

e Lysosomes / T

13) The famous movement that was started by women of Advani village in Tehri-Garwal against felling of

trees is known as:/ﬁuﬁamﬁﬁﬁ?ﬁmﬁq&ﬁ%w%ﬁ?@, 3IEAT UTH B
Tigareii gRT MY fovar T AT:

1. Bahugana movement / dgTTUIT S AR
2. Appiko movement /Q’ﬁ?ﬁ OIEANE]

3. Bishnoi movement /@'Q:ﬁ_sc SIIAE]
4, Chipko movement / T GHT@T‘FT

Correct Answer :-

« Chipko movement / RIT®T 3T Ie
14) Which one of the following is INCORRECT function? / FI=T & & CaR k) TP MUY ad Ui
1. Nucleus controls all metabolic activities / TN THXT IO TTiaia Eh:TﬁP:IﬁHW%I

2. Peroxisomes act as digestive bags which fight against any infection inside the cell | Wi T Afert

%wﬁﬁmﬁ%a‘raﬂﬁm%%%&ﬁﬂﬁwﬁm%l

(31)



FRAT B
4. Ribosomes help in protein synthesis /?'I_E'g_@l?hﬁ sG] Wﬁmsﬁ%l

Correct Answer :-

« Peroxisomes act as digestive bags which fight against any infection inside the cell / R Urae Afert
P ETH B B & ol HIiRepT & iR et +f Ioprur 3 wsdi 21

15) Goitre is caused due to deficiency of: /&°T Eﬂﬁﬁ FH F BRI @Tﬂ %t
1. lodine / TS

2. Vitamin C / fdeTf® ¢

3. Fluorine/ UﬂGhQQF[

4. Vitamin A / faerfie A

Correct Answer :-

« lodine/ 3MASH

16) bring impulses towards the cell body of neuron. / 3T &) dfABIRIET S
PIRTH1-fis Ft 3k a1 B

1. Dendrites / TT4Urdq

2. Muscles/ﬁ?ﬁ
3. Nerves / AT
4. Axon / dIAIE

Correct Answer :-

« Dendrites / TTUrdq

17) The tool used to remove weeds from the field is: / 39 SUBIUT BT STAHTA AGMH I WIUIAR g
& fore frar S 8:

1. Axe / egrat

2. Plough /gd

3. Hoe / $ald
4. Cultivator / Pfeedex

(32)



LOorrect Answer :-

+ Hoe /Pald

18) Although woolen sweaters have small pore, they keep us warm because pores, contain: / aEfy
Al el # B % 31d €, R 3 7 i v 8, wife fosi o siafiRa gan®:

1. Air which is good conductor of heat / d1g, ﬁmﬁw%l

2. Air which is bad conductor of heat / A, S &I T HaIAD gl
3. Moisture that keeps us warm / H, S & T X ]
4. Woolen is warm in nature /Wﬁﬂ%qﬁﬁﬂﬁ@?{%l

Correct Answer :-

« Air which is bad conductor of heat / d[q, S &S BT CEINED gl

19) When 8x*yz- 5x)°z - 6x2y2 + 9xy2zis divided by 2xyz, then the numerical co-efficient
of J2 in the quotient is: / 519 8x*yz- 5xy3z - 6 X2y + 9xy?z P 2xyz | fawfora frar smar g, @Y
YNTHA | )2 ST T&ITHD [UNP &

1.4

20) The area of a trapezium is 96 cm? and its height is 8 cm. If one of the parallel sides is 3
times the other, then the length of the longer side is: / AT I AHH 96 T2 % 3R IS
TS 8 T, 31 afe wwiaR yomsit & | U, g @1 3 A1 7 af S Yo 3t @ 8

1. 13 cm
2. 12 cm

3.16 cm

(33)



Correct Answer :-

e I8cm

21) Which one of the following is NOT a natural resource? / Erk R kackl Udh UITF?IH?
HaTe T 82

1. Sunlight / ¢@

2. Wind /gdl

3. Electricity / forsreft

4, Water/ Ot

Correct Answer :-

« Electricity / fastet

22) ABCD is a parallelogram and the diagonals AC and BD meet at 'O'. IfAO = 6 cm and BD is
2 cm less than AC, then BO = . / ABCD T JHiaR Tgye 7 o 39 fawul AC 3R
BD, '0' W fAerd g1 af¢ AO = 6 Tl § 3k BD, ACH 2 It FH T, A1 BO =

1.4.5¢cm
2.5.5cm
3.5cm

4.4 cm

Correct Answer :-

e S5cm

23) A certain sum amounts to Rs. 10816 in 2 years at 4% per annum compound interest.
Find the sum. / T® RT3 «=R1RT 2 a9 & 4% widad & Twgls a9 R 10816 $UY Bl Bl
FIRTIRT T BH |

1. Rs. 10100 / 10100 3T
2. Rs. 10000 / 10000 ST
3. Rs. 9980 / 9980 SUY

4. Rs. 9890 / 9890 ST

(34)



LOorrect Answer :-

« Rs. 10000 / 10000 ST

24) If (x + y) = 15 and xy = 16, then the value of x 2+ yZis: / TS (x + y) = 15 3R xy = 16,
@ x2+ P2 HTHF B:

1. 193
2. 197
3. 189

4. 206

Correct Answer :-

25) Evaluate: 872 x 34/2°6 / HIF JTd ®9: 8°2 x 34/2°6
1. 81

2.0

3.192

4. 168

Correct Answer :-

« 81

26) If the diagonals of a rhombus are 16 cm and 12 cm, then the length of its side is: / uﬁ‘a‘nagﬂjvr &

fa®ut 16 T, 3R 12 A, €, A SIS Yol Y =TS &:

1.5cm

2. 8cm
3.10cm

4.4 cm

Correct Answer :-

e« 10cm

(35)
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1. Mechanical energy to electrical energy / TifAew Sl b1 a@m Soll |
2. Chemical energy to light energy / IS SHoil B UBT Sl J

3. Chemical energy to mechanical energy / RIS SHoll B Aife SHoll §

4. Light energy to electrical energy / UDIRI Foll b aqu Foil &

Correct Answer :-

« Light energy to electrical energy / UPIRI Sl Bl a—gfq_d Soll d

28) In the experiment demonstrating respiration in germinating seeds, potassium hydroxide
(KOH) is used to: / Sl & 3HRor & Tau+ ) URia #= W@ w1 #, R sssiaarss (KOH)
BT TN =1 & e foran wiman &:

1. Liberate oxygen to be used by the seeds /Eﬂﬁﬁmugaa@ﬁaﬁﬁ SIS DI Hﬁ'ﬁ%%ﬁﬂ
2. Absorb water vapour released by the seeds / Sl gIRT S{dHdd STefdity SR B %ﬁm

3. Absorb carbon dioxide produced by the germinating seeds / &@ﬁ_d@ef CINKEIS! Wﬁ'ﬁﬁ AT
STE3HRTSS SaRNYT DR o forg

4. Absorb oxygen present in the flask / Uci[¥d T Iuas fTaio &mﬁﬁﬂmﬁésm

Correct Answer :-

« Absorb carbon dioxide produced by the germinating seeds / @@mﬁ?ﬁ I W gR1 A Pl
STE3HRISS RN DR & foT

29) In a grouped frequency distribution, the data is presented using the same class size and
the seventh class being 30-35 (where 35 is not included). Then the lower limit of the second
class interval is: / T% HMIfe® TRARGT [AaR01 H, TH HET STHR BT SUTNT Hd T STeT Bl Ugd
oo SiTen 8 ik Aradl e 30-35 (ST 35 Affa A8 8) 31 at gert wen siavra @1 A i 8:

1. 15
2. 10
3.20

4.5

Correct Answer :-

.5

30)
(36)
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Gﬂaﬁﬁﬁﬁwﬁﬁﬁwdmlaﬁ?dﬂw a«noﬂ%amﬁwﬁa% Pgardt gl -
1. Taxonomy/mwmq

2. Histology / 3 d® fasm
3. Cytology /ﬁﬁ]ﬁ fagm

4. Morphology / mﬁiﬂ:{

Correct Answer :-

« Histology / S dd fogm

(37)



